KUSTOM’S T1201

VOR; ADF,; ILS DFIU

OVERHAUL MANUAL

T1201 P/N 062-1201-00 O/M P/N.006-1201-00

ATA 31-41-1



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

RECORD OF REVISIONS

REV | ISSUE DATE REV | ISSUE DATE REV | ISSUE DATE
NO DATE INSERTED |BY] NO DATE | INSERTED|BY] NO DATE | INSERTED|BY
1 |Feb 15/84

31-41-1
Record of Revisions
Pages 1/2

15 February 1984



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

LIST OF EFFECTIVE PAGES

SUBJECT PAGE DATE SUBJECT PAGE DATE
Title Apr 30/82 Testing 518 Apr 30/82
Record of Revisions 1 Apr 30/82 g;g ﬁpﬁ gg;gg
2 Blank P
521  Apr 30/82
List of Eff Pages 1 Apr 30/82 522 Blank
2 Apr 30/82 523  Apr 30/82
Table of Contents 1 Apr 30/82 524 Blank
2 Abr 30/82 525 Feb 15/84
pr 526 Blank
List of I1lustrations 1 Apr 30/82 527 Apr 30/82
2 Blank 528 Blank
Desc & Operation 1 Apr 30/82 529 Apr 30/82
530 Blank
2 Apr 30/82 531 Blank
3 Apr 30/82
4 Blank 532 Apr 30/82
5  Apr 30/82 ggz Q?r i0/82
6 Blank 535 Apr 30/82
7 Apr 30/82 pr
536 Blank
8 Apr 30/82
537  Apr 30/82
9 Apr 30/82
538 Blank
10  Apr 30/82
539  Blank
11  Apr 30/82
540 Apr 30/82
12 Apr 30/82
541  Apr 30/82
13 Apr 30/82
542  Blank
14  Apr 30/82
15  Apr 30/82 543 Apr 30/82
P 544 Blank

16  Apr 30/82 545 Blank

17 Apr 30/82
546 Feb 15/84
18  Apr 30/82 547  Apr 30/82

Testing 501 Apr 30/82 548 Blank
502  Apr 30/82 549  Feb 15/84
503 Apr 30/82 550  Apr 30/82
504 Apr 30/82 551  Apr 30/82
505 Apr 30/82 552  Blank
506 Feb 15/84 553 Blank .
506.1 Feb 15/84 554  Apr 30/82
506.2 Blank 555  Apr 30/82
507 Apr 30/82 556  Blank
508  Apr 30/82 557 Blank
509 Feb 15/84 558 Apr 30/82
510  Apr 30/82 559  Apr 30/82
511 Feb 15/84 560 Blank
212 pPr SN/R2 ire List 601 Apr 30/82

pr /82
602  Apr 30/82

514 Apr 30/82 603 A 30,/82
515  Apr 30/82 pr
516  Apr 30/82 _
517  Apr 30/82 - "1

List of Effective Pages
Page 1

15 February 1984



SUBJECT
Wire List

Parts List

PAGE

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

LIST OF EFFECTIVE PAGES

DATE

604
605
606
607
608
609
610

701
702
703
704
705
706
707
708
709
710
711
712

Apr 30/82
Apr 30/82
Apr 30/82
Apr 30/82
Apr 30/82
Apr 30/82
Blank

Feb 15/84
Apr 30/82
Apr 30/82
Apr 30/82
Apr 30/82
Apr 30/82
Feb 15/84
Apr 30/82
Apr 30/82
Apr 30/82
Apr 30/82
Blank

~ 31-41-1
List of Effective Pages
Page 2

15 February 1984



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

TABLE OF CONTENTS

SUBJECT PAGE
DESCRIPTION & QOPERATION. . . . . . . . « . v v v v v v v . e e e e 1
1. General . . . . . . . . e e e e e e e e e e e o1
A. Purpose of Manual . . . . . . . . . . . . v v v v . .. 1

B. Purpose of Equipment. . . . . . . . . .. e |

C. Accessories Available . . . . . . . . . . . . .o oo .. 1

2. Specifications. . . . . . . . . . .. o e e e e e e e 2
A. T1201 DFIU--General . . . . . . « « « v v v v v v v v v . 2

B. T1201 DFIU--ADF Antenna Simulator . . . . . . . . . . . . 2

C. ADF, VOR, ILS Interface Cables. . . . . . . . . .. ... 3

3. Equipment Description . . . . . . . . . . . . .o 0. . 3
4. Theory of Operation . . . . . . . . . . . . ... e 3
A. Circuit Descriptions. . . . . . . . . .. e e e e e e 3

B. Specific Functions. . . . . . . . . . . . o ..o 7

C. Block Diagram Theory. . . . . . . « . « ¢ ¢ v v v v v o . 7

D. Interface Connectors & their Functions. . . . . . . . . . 9
TESTING. . . & o o v o e e e e e e e e e e e e e e e e e e e e e 501
1. General . . . . . . . .« o 00w e e e e e e e e 501
A. Recommended Test Equipment. . . . . . . . . . . . . ... 501

B. Definitions . . . . . . . . .« . . e e e e e e e e e 501

C. Cautions. . . . . . . . . . .. e e e e e e e e e e e 501

2. T1201 General Test Procedures . . . . . . . . . . « . . . . .bh01
A. Test Points Internal Wiring . . . . . . . . . . . . . .. 501

B. Test Points . . . . . .« . « « « v v v v v v . . . . .503

C. T1200 Interface . . . . . . . « v v v v v v v v . . . . 503

D. Collins Interface . . . . . . . « .« v v v v v v v v .. 504

E. Monitor Points. . . . . . . . . . .. e e e e e e e e 505

F. AC Power Section. . . . . . . . « « v v v v v v v e e 506

G. DC Power Section. . . . . . . . . . e e e e e e 506

H. Switch Functions. . . . . . . . . . . . . . . . o ... 506

I. DFIU Power Up . . . . . . . . . . . .. .+« « . . . . .b08

J. Audio Amp Test. . . . . . . . . . L. oo e e 508

3. ADF Antenna Simulator Alignment Procedure . . . . . . . . . . 509
4. VOR LRU Cable Test Procedure. . . . . . v v o v v v v v v o . 512
5. ILS Cable Test Procedure. . . . . . . .« . . . . v o v v o« .. 515

31-41-1
Table of Contents
Page 1

30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00
SUBJECT PAGE

TESTING (Continued)

6. ADF LRU Cable Test Procedure. . . . . . . . . . .« . o . .. 518
7. Drawings. . . . & v it i e e e e e e e e e e e e e e e e 521
WIRE LIST. .« & v v v it et e e e e et e e e e e e e e e e e e e 601
1. VORLRU Cable . . . .« o v v v v v v v v v v v v e e e e e e 601
2. ILSLRUCable . . . . .« . v o v v v v v b s e e e e e 604
3. ADF LRU Cable . . . . « v v v v v v v v e e e e e e e e 607
PARTS LIST . o v v v v et e e e e e e e e e e e e e e e e e e 701

1-41-1
Table of Contents
Page 2

30 April 1982



FIGURE

1
501
502
503
504
505
506
507
508
509
510
511

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

LIST OF ILLUSTRATIONS

PAGE
DFIU Wiring Block Diagram (006-0311-00). . . . . . . . . 5
T1201 Final Assembly (300-0300-00) . . . . . . . . . . . 523
T1201 Audio Amp Bd Assembly (300-5573-00). . . . . . . . 532
T1201 429 Bd Assembly (300-5617-00). . . . . . « . . . . 532
T1201 Schematic (002-0289-00). . . . « « « v v v v o . . 533
ADF Antenna Simulator Assembly (300-5616-00) . . . . . . 540
ADF Antenna Simulator Schematic (002-5616-00). . . . . . 541
Test Point Bd Assembly (300-5572-00) . . . . . . . . . . 546
T1201 ATE Internal Wiring (002-0290-00). . . . . . . . . 547
ADF LRU Cable (155-2347-00). . . v v v v v v v v v v o 551
VOR LRU Cable (155-2348-00). . . . + + v v v v v v o o 555
ILS LRU Cable (155-2349-00). . . . + +v v v v v v v o o 559

List of Illustrations
Page 1/2
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

T1201 VOR, ADF, ILS DFIU - DESCRIPTION AND OPERATION

1. GENERAL

A.

PURPOSE OF MANUAL

The purpose of this manual is to describe the operation and main-
tainence of the T1201 DFIU (Discrete Function Interface Unit) as
it applies to the ARINC characteristic 700 Series ADF, VOR, and
ILS systems.

This manual will also describe interface between the T1200 Control
Display Unit and the T1201 DFIU.

PURPOSE OF EQUIPMENT

The T1201 DFIU is specifically designed to interface the T1200 CDU
and the ARINC characteristic 700 Series Line Replacement Unit (LRU),
also referred to as the Unit Under Test (UUT), and provide func-
tional testing and monitoring. The T1201 DFIU also provides an

ATE interface port and a special Collins Radio Interface similar

to RS-232.

ACCESSORIES AVAILABLE

(1) Antenna Simulator Alignment Accessory 062-5001-00
(2) Collins ADF Test Point Overlay 057-1169-00
(3) Collins VOR Test Point Overlay 057-1169-01
(4) Collins ILS Test Point Overlay 057-1169-02
(5) Bendix VOR Test Point Overlay 057-1169-04
(6) Bendix ADF Test Point Overlay 057-1169-05
(7) Bendix ILS Test Point Overlay 057-1169-07

31-41-1
Page 1
30 April 1982



KUSTOM ELECTRONICS, INC.

Overhaul Manual

T1201 - Part No. 062-1201-00

2. SPECIFICATIONS

A.

B.

T1201 DFIU--GENERAL

(1)

The T1201 DFIU front panel measures 19" x 12.15" for rack
mounting. The rear enclosure measures 16" x 8" x 11.5".

(2) “Internal wiring is-accomplished by using mass termination . .

(3)

(4)

T1201 DFIU--ADF ANTENNA SIMULATOR

flat cable and discrete wiring.

The discrete functions provided are designed to emulate func-
tions of the aircraft control panels, and provide testing
variables for some active circuits in the LRU's.

Phone and banana jacks are used to provide monitoring ports
for the 429 data bus, audios, and input current, and ATE

functions.

Frequency Range
Input Impedance
Qutput Impedance

Sense Channel Output
Amplitude Attenuation
Factor (effective height)

Loop Channel Outputs

Attenuation Attenuation
Factor

Accuracy

Loop Qutput Amplitude
Matching at 45° Relative
Bearing

Antenna Mount Top/Bottom
Function

190-1750 KHz
50 Ohm, unbalanced
78 Ohm +5%

.03 times the input

.023 times input at 190 KHz
.038 times input at 577 KHz
.023 times input at 1750 KHz

+2 dB

+.25 dB

Top--Sine & Cosine in phase
first quadrant
Bottom--Sine & Cosine 180° out
of phase first quadrant

To verify the ADF Antenna Simulator, refer to Steps 1 through 4,
6, 15 through 19, and 24 through 28 of the Test Procedure.

31-41-1
Page 2
30 April 1982



ADF,
(1)
(2)

(3)

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00
VOR, AND ILS INTERFACE CABLES

Each cable has an approximate overall length of six feet.

Each cable is designed for use with its specific LRU and
cannot be interchanged.

Each cable provides all 60 test point connections and all
ARINC defined MP connections.

3. EQUIPMENT DESCRIPTION

The T1201 consists of a main interface panel that has the capabilities
of providing interface between T1200 CDU and any of the LRU's ADF, VOR,
and/or ILS via the interface cables.

The T1201 unit is divided into the following sections:

(S —

—HOWoOONOUOIPLWN -

ADF Antenna Simulator and Discrete Functions
Marker Audio and Indicators and Discrete Functions
ILS Discrete Functions

ADF, VOR, and ILS common Discrete Functions and Audio Monitor
Power ON/OFF and Current Monitor

LRU Interface Connector

429 Bus Monitors

ATE Test Point section

ATE Interface (rear panel)

Collins Interface (rear panel)

T1200 Interface (rear panel

4. THEORY OF OPERATION

A.

CIRCUIT DESCRIPTIONS

(1)

(2)

In most cases, the discrete functions of the T1201 are merely
presenting either an open or grounded termination to the LRU.

The audio Toad switches for the Marker Audio and the RCVR
audio provide load selection as desired.

The antenna mount switch serves two functions: It provides
an open or grounded circuit to the LRU, and it inverts the
output signal of the sine signal from the antenna simulator.

The current monitor jacks actually provide a voltage monitor
point. This point has a 1 Ohm 1% resistor in series with
the 115VAC input to the LRU. Therefore, I = V/1.

31-41-1
Page 3/4
30 April 1982



KUSTOM ELECTRONICS, INC.

Overhaul Ma

nual

T1201 - Part No. 062-1201-00

J3 T Jp COLLINS
lISWC +z$§v TIJZ%O ATE TEST
400Hz bC N INTERFAGE INTERFACE CONNECTOR
INPUT CONNECTOR Jg
e . l
g DISCRETE Q 155-2387-00
-
:
T8, B
| .| 200-5572-00
553 ] ol o] TEST
o | £ PoNT
-5621-00 3
200-5621-0 5| soaro
(FRONT
= JUMPER CARD 3 FRONT
~ ?
8 429 MONITOR BD| V) Bs, | | By | |&
2 200-5617-00 5
~ 1
3 %2 3
JPg
3 ;
155-2383-00 o o * &
1515 g 8
]
8 8
200-5616-00 P P,
Lo ANTENNA 3 2
g SIMULATOR 55-2375-00 JS3 JSq
o ) |
i ? 1)
g 5 155-2373-00 g
§ X l §
0 4 0
8 3 FRONT |  FRONT 3
ANTENNA PANEL |  PANEL
¥ LRU INTERFACE CONNECTOR smuLator | | ¥ MONITOR | DISCRETE J LRU INTERFACE CONNECTOR
CONNECTOR POINTS 8AMP | CONTROLS
UNIT: TI201 orv ] eant numsen i DESCRIPTION Ja
a Z: -M—qn:zza KUSTOM ELECTRONICS #NC
E l}é ;’_‘:..‘ 1010 WEST OESTNUT. CHANUTE KANSAS 04728
ENGR DATE TOLERANCES UMLESS MOTED
, R R
B ———aq"""* DFIU WIRING [*'*
BLOCK DIAGRAM |} 'D'
. B SWT| [PART NUMBER
Figure 1

31-41—1

Page 5/6
30 April 1982



B.

C.

(5)

(6)

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

The 429 monitor jacks provide easy monitoring of the 429
words with an oscilloscope.

The ATE test points provide test personnel with easy access
to the LRU test points and are also accessible for ATE inter-
face by a connector on the rear panel.

SPECIFIC FUNCTIONS--Refer to the T1201 Test Procedure section.

BLOCK DIAGRAM THEORY

Refer to Fig. 1, T1201 Block Diagram (006-0311-00).

(1)

(2)

The 115 VAC 400 Hz source is provided from an external source
at J3 to J1 through TB1, JS8, and JP8. This source is used
only by the LRU.

The 27.5 VDC source is provided at TB3 from an external source
and provides DC power at TB1l for the following:

1. Remote Control Board
2. Marker Lamps
3. Marker and RCVR Audio Amp

The T1200 is interfaced to the T1201 by J4 on the rear panel.

(a) The 429 words to the LRU are routed to the 429 monitor
board (200-5617-00) then paralleled to the LRU inter-
face connector J1 on the front panel. The LRU 429 out-
put words are routed to the T1200 in a manner reverse
to that above. Refer to Fig. 504, T1201 Schematic &
Wiring Diagram (002-0289-00) for details.

(b) The Remote Control data from the T1200 to the T1201 is
also interfaced at J4. The control signals are routed
to the control (jumper) card through BS3. Refer to
Fig. 504, Sheet 2, for details.

The Automatic Test Equipment (ATE) interface connector, J2,
on the T1201 rear panel, provides connection of ATE to the
DFIU. The specific signals present at this connector at any
time are relative to the LRU that is interfaced to the DFIU.
By following the cable paths, it can be seen that monitor
points (lamps, audios, and current monitor) on the front
panel are present at J2 as well as the ATE test points of the
LRU. ATl of these are interfaced to the DFIU from the LRU

by the respective LRU interface cable.

31-41-1
Page 7
30 April 1982



(5)

(6)

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

The Test Point board (220-5572-00) is paralleled to J2, pro-
viding manual test capability of the LRU. This board also
has another cable paralleled from it to J8 (Collins interface
connector) on the rear panel.

The discrete control functions of the front panel are routed
through the jumper card (or remote control board, if installed),
and then out to the LRU interface connector J1. When the
operation switch on the rear panel is in the Remote position
and a remote control board is installed, all discrete func-
tions are controlled by the T1200 CDU and any manual operation
of the discretes will have no effect on the LRU. More infor-
mation on this operation will be provided as it becomes
available.

The ADF Antenna Simulator input, outputs, and power are not
routed through the LRU connector J1, as can be observed on
the block diagram (Fig. 1)

The RF input is a BNC connector for interfacing to an exter-
nal RF source.

The circuit power is provided by the LRU and the outputs are
directly cabled to the LRU by the ADF LRU interface cable.
The cable is designed with the ARINC characteristic circular
connector which will permit direct coupling to an actual
antenna, if desired.

31-41-1
Page 8
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

D. INTERFACE CONNECTORS AND THEIR FUNCTIONS

(1) LRU Interface Connector J1

PIN #
Al
A2
A3
A4
A5
A6
BT
B2
B3
B4
B5
B6
Cl
c2
c3
ca
c5
C6
D1
D2
D3

FUNCTION
ADF QEC MSB
ADF QEC SIGN
ADF QEC BIT B
ADF QEC BIT C
ADF QEC Common
ADF QEC LSB
MARKER SENSE
ADF ANTENNA MOUNT
ADF/VOR/ILS FUNCTIONAL TEST
MARKER BEACON INHIBIT
ADF/VOR/ILS 429 DATA SOURCE SELECT
ADF/VOR/ILS AIR/GROUND LOGIC
ILS SPARE
ADF/VOR/ILS TUNE FUNCTION TEST
ILS SPARE
ILS SPARE
ILS LOC/GS CONTINUOUS
ILS LOC/GS CONTROL
ADF/VOR/ILS SDI CODE
ILS LOC/GS INTERRUPTED
ADF/VOR/ILS SDI CODE COMMON

31-41-1
Page 9
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

D4
D5
D6
El
E2
E3
E4
E5
E6
F1
F2
F3
F4
F5
F6
61
G2
63
G4
G5
G6
H1
H2
H3
H4

EUNCTION
ADF/VOR/ILS SDI CODE
ADF Spare
ADF Spare
SPARE
SPARE
MARKER AUDIO LO
MARKER AUDIO HI
MARKER AUDIO SHIELD
VOR SPARE
RCVR AUDIO LO
RCVR AUDIO HI
VOR SPARE
RCVR AUDIO SHIELD
SPARE
OUTER MARRER LAMP CONTROL LINE"
MIDDLE MARKER LAMP CONTROL EINE
F/M MARKER LAMP CONTROL LINE
SPARE
SPARE
SPARE
SPARE
SPARE
SPARE
SPARE
SPARE

31-41-1

Page 10
30 April 1982



L1
L2
L3
L4
L5
L6
M1
M2
M3
M4
M5
M6
NT
N2
N3
N4
N5
NG
T1
T2
T3
T4
T5
T6

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

FUNCTION
RCV PORT A HI
RCV PORT B HI
XMIT PORT B HI
XMIT PORT B HI
LRU 115 VAC HOT OUTPUT
115 VAC COLD
RCV PORT A LO
RCV PORT B LO
XMIT PORT A LO
XMIT PORT B LO
LRU 115 VAC OUT COLD
115 VAC HOT SOURCE
SHIELD GROUND
SHIELD GROUND
SHIELD GROUND
SHIELD GROUND
CHASSIS GROUND
CHASSIS GROUND
(TEST POINT) TPC2
TPA3
TPC3
TPB4
TPA5
TPCS

31-41-1
Page 11
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

FUNCTION

TPD7
TPDA
TPB6
TPC7
TPA7
TPD6
TPD8
TPC8
TPB8
TPA8
TPD10
TPC9
TPC11
TPB10
TPA9
TPAT1
TPD13
TPD15
TPB12
TPC13
TPA13
TPC14
TPB14
TPB14

31-41-1
Page 12
30 April 1982



12
73
74
75
26
al
a2
a3
a4
ab
ab
b1
b2
b3
b4
b5
b6

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

FUNCTION

TPB2
TPA3
TPB3
TPA4
TPC4
TPB5
TPD1

TPD3
TPA6
TPC6
TPB7
TPD5
TPD7
TPA1
TPB1
TPC1
TPD9
TPD11
TPC10
TPB9
TPB11
TPA10
TPD12
TPD14

31-41-1
Page 13
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

PIN # FUNCTION
cl TPA12
c2 TPC12
c3 TPB13
chd TPC15
ch TPB15
cb TPA15

(2) ATE Interface Connector J2

PIN # FUNCTION
L7 CURRENT .MONITOR
L8 CURREN;*MONITOR V RMS/T = IRMS
M1 115 VAC HOT LRU OQUTPUT
M2 115 VAC COLD LRU OUTPUT
M3 SPARE
M4 SPARE
M5 4 SPARE
M6 SPARE
M7 SPARE
M8 SPARE
N1 SPARE
N2 SPARE
N3 F/M MARKER LAMP CONTROL LINE
N4 MIDDLE MARKER LAMP CONTROL LINE
N5 OUTER MARKER LAMP CONTROL LINE..
N6 SPARE
N7 RCVR AUDIO SHIELD
:3 1 ‘1}1Le 1]

30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

(2) ATE Interface Connector J2

PIN # " FUNCTION
N8 VOR SPARE
P1 RCVR AUDIO HI
P2 RCVR AUDIO LO
P3 VOR SPARE
P4 MARKER AUDIO SHIELD
P5 MARKER AUDIO HI
P6 MARKER AUDIO LO
p7 SPARE
P8 SPARE

31-41-1
. Page 15
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

(3) Collins Test Interface Connector J3

PIN # TEST POINT
1 A3
2 B3
3 C3
4 D3
5 A4
6 B4
7 C4
8 D4
9 A5

10 B5

11 C5

12 D5

13 A6

14 B6

15 C6

16 D6

18 A7

20 D10

25 D2

31-41-1
Page 16
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

(4) T1200 CDU Interface Connector J4

PIN #

1
20
2

21
3

22
4
23
5
24
6
25
7
26
8
27
9
28
10

29
11
30
12
31
- 13

FUNCTION

PD5

PD6
PD7
SPARE

SPARE

RCV PORT A HI
RCV PORT A LO
GND

RCV PORT B HI
RCV PORT B LO

GND

XMIT PORT A HI
XMIT PORT A LO
GND
XMIT PORT B HI
XMIT PORT B LO
GND

31-41-1

Page 17
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

(4) T1200 CDU Interface Connector J4 (con't)

PIN # TEST POINT
32 N/A
14 N/A
33 N/A
15 N/A
34 N/A
16 N/A
35 N/A
17 N/A
36 N/A
18 N/A
37 N/A
19 N/A

31-41-1
Page 18
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

T1201 VOR, ADF, ILS DFIU - TESTING

1. GENERAL

A. RECOMMENDED TEST EQUIPMENT
(1) Digital Voltmeter
(2) Oscilloscope
(3) Audio Frequency Signal Generator
(4) 100-1800 KHz Signal Generator

B. DEFINITIONS
(1) Short Circuit or Zero Ohms: When checking for zero Ohms, use

a DVM (Digital Voltmeter) set on the RX1 scale and check for

absolute zero + .2 Ohms.

(2) Open Circuit: When checking for open circuits, use a DVM set
on the RX10K scale and check for an infinite resistance reading.

C. CAUTIONS

During functional test procedures, do not connect or apply power
sources to the DFIU until instructed to do so.

2. T1201 GENERAL TEST PROCEDURES

A. TEST POINTS INTERNAL WIRING

ATE Connector LRU Connector Test Point

J2 Pin # J1 Pin #
Al T1 TP C2
A2 T2 TP A3
A3 T3 TP C3
A4 T4 TP B4
A5 T5 TP A5
A6 T6 TP C5
A7 Ul TP D2
A8 uz TP D4
B1 u3 TP B6
B2 u4 TP C7
B3 us TP A7
B4 ue TP D6

Page 501
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

ATE Connector LRU Connector Test Point
J2 Pin # J1l Pin #
B5 V1 TP D8
B6 V2 TP C8
B7 V3 TP B8
B8 V4 TP A8
C1 V5 TP D10
c2 V6 TP C9
C3 W1l TP C11
C4 W2 TP B10
c5 W3 TP A9
cé W4 TP All
C7 W5 TP D13
c8 Wé TP D15
D1 X1 TP B12
D2 X2 TP C13
D3 X3 TP Al13
D4 X4 TP: C14
D5 X5 TP B14
D6 X6 TP Al4
D7 Y1 TP B2
D8 Y2 TP A2
El Y3 TP B3
E2 Y4 TP A4
E3 Y5 TP C4
E4 Y6 TP B5
E5 71 TP D1
E6 72 TP D3
E7 Z3 TP A6
E8 Z4 TP C6
F1 Z5 TP B7
F2 76 TP D5
F7 al TP D7
F8 a2 TP Al
Gl a3 TP Bl
G2 a4 TP C1
G7 ab TP D9
G8 ab TP D11
H1 bl TP C10
H2 b2 TP B9
H7 b3 TP B11
H8 b4 TP A10
Jl b5 TP D12
J2 b6 TP D14
J7 cl TP Al12
J8 c2 TP C12
K1 c3 TP B13
K2 cd TP C15
K7 c5 TP B15
K8 cb TP Al5

Page 502
30 April 1982



B.

C.

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

TEST POINTS

(1)

(2)

(3)

Refer to T1201 Test Points Internal Wiring List (Sec. A, pre-
ceding) and check for zero Ohms from the ATE Interface Con-
nector J2 (rear panel) to the LRU Connector J1 (front panel)
Example: J2 Pin Al 4o J1.'Pin. T1

Refer to the T1201 Test Points Internal Wiring List and check
for zero Ohms from the LRU Connector J1 to the Test Points.
Example: J1 pin T1 to Test Point C2

Check for zero Ohms between the ground pins of the Test
Point board and chassis.

T1200 INTERFACE

(1)

(2)

Check for zero Ohms between the T1200 Interface Connector
(rear panel) and the LRU Connector J1, per the following list:
T1200 Interface LRU Connector
Connector Pin # Pin #

26 L1

8 M1

27 N1

9 L2

28 M2

10 N2

29 L3

11 M3

30 N3

12 L4

31 M4

13 N4
Using a %" 3-conductor phone jack, check the 429 bus input

and output jacks on the front panel for zero Ohms to the LRU
connector per the following list:

LRU Connector

Pin #

INPUT A

Tip L1

Ring M1

Sleeve N1
INPUT B

Tip L2

Ring M2

Sleeve N2

31-41-1
Page 503
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

Pin #

OUTPUT A

Tip L3

Ring M3

Sleeve N3
OUTPUT B

Tip L4

Ring M4

Sleeve N4

(3) Check for zero Ohms between chassis and pins N1 through N6 of
the LRU connector.

(4) Check for zero Ohms between the T1200 Interface Connector (rear
panel) and the Remote Control Board connector BS3 (20-position
board edge connector, inside) as follows:

T1200 Interface Conn. BS3
Pin No. Pin #

1 1

20 2

2 3

21 4

3 5

22 6

4 7

23 8

5 9

24 10

6 11

25 12

7 13

D. COLLINS INTERFACE

(1) Check for zero Ohms between the Collins Test Connector (rear
panel) and the Test Points on the front panel per the following
list:

Collins Test Conn. Test Point
Pin #

CONO OB WN =
>
>

31-41-1

Page 504
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

Collins Test Conn. Test Point
Pin #
9 A5
10 B5
11 C5
12 D5
13 A6
14 B6
15 Cé
16 D6
18 A7
20 D10
25 D2

E. MONITOR POINTS

(1)

Check for zero Ohms between the ATE Interface Connector (rear
panel) and the LRU Connector (front panel) per the following

list:

LRU Interface ATE Interface

Conn. Pin # Conn. Pin #
El P8
E2 P7
E3 P6
E4 P5
E5 P4
E6 P3
F1 P2
F2 P1
F3 N8
Fa N7
F5 N6
F6 N5
G1 N4
G2 N3
G3 N2
G4 N1
G5 M8
G6 M7
H1 M6
H2 M5
H3 M4
H4 M3
M5 M2
L5 M1

31-41-1
Page 505
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

(2) Check for zero Ohms between the ATE Interface connector and the
associated monitor jacks as called out in the following list:

ATE Connector Monitor Jack Name/Color
Pin No.
L7 Current Monitor Jack/Top
L8 Current Monitor Jack/Bottom
P1 RCVR Audio Hi/White
p2 RCVR Audio Lo/Black
P5 MKR Audio Hi/White
P6 MKR Audio Lo/Black
M1 LRU AC Out Hot/J14 (Top Plug)
M2 LRU AC Out Cold/J15 (E?qum (
]

(3) Check for 1 Ohm +1% between the current monitor jacks.
AC POWER SECTION

(1) Check for zero Ohms between the AC receptacle (J5, Rear Panel)
and the terminal block and the connector floor inside the unit.

AC Receptacle Terminal TB1 Term. Function
Center Conductor W 1 GND
Large Contact X 2 AC Hot
Small Contact Y 3 AC Cold

(2) Check for zero Ohms between TB1 Term. 1 and chassis.

(3) Check the operation of the UUT power switch by the following

table:
Sw Position TB1 « to LRU Connector Resistance
Term # Term # in Ohms
OFF 1 N5 & N6 0
OFF 2 M6 @
OFF 3 L6 0
OFF 3 M6 ®
ON 2 M6 1 Ohm %1%

(4) With the UUT Power Switch in the ON position, check for zero
Ohms between TB1 Term. 2 and one of the current monitor jacks.
There should be 1 Ohm %1% resistance from TBl Term 2 to the
remaining jack.

31-41-1
Page 506
15 February 1984



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

DC POWER SECTION

(1)

(2)
(3)

Check for zero Ohms between the DC power receptacle and TBl1
as follows:

Receptacle Term. TB1 Term.
+ Red 4
- Black 5&1

Check for zero Ohms between TB1 Term. 1 and chassis.

With the DFIU power switch in the indicated position, check
for the indicated resistance from TBl Term. 4 to each indicated
point.

Switch Position Indicated Point Resistance
ON TB1 Term. 6 0
ON Term. 1 of marker
indicator lamps 0
ON TB1 Term. 5 Approx. 70 Ohms
OFF TB1 Term. 5 ©
OFF TB1 Term. 6 0

SWITCH FUNCTIONS

The following procedures involve checking the discrete function of
the front panel switches. Most of the switches are performing a
grounding or open circuit function and are checked in Section (1).
The switches having other functions will be checked in additional
sections.

31-41-1
Page 506.1/506.2
15 February 1984



(1)

(2)

(3)

(4)

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

Check the following switch operations with an Ohmmeter having
one lead inserted in one of the ground jacks of the test point
section (A,B,C, or D16) and having the remaining lead in con-
tact with the designated pin of the LRU Interface Connector.

The following table gives the related information to perform
this test.

Switch Switch ~ Resistance LRU Connector
. Position = In Ohms Contact #

Antenna Mount Top/Bottom 0/ co B2
Marker Sense Hi/Lo 0/ o Bl
Marker Inhibit On/0ff 0/ B4 -

ILS Tune Funct. Test On/0ff 0/ c2
Funct. Test Disc. On/0ff 0/ «© B3

A/G Logic Air/Gnd 0/ B6

Data Source A/B 0/ B5

Check the ADF QEC switches, using contact A5 of the LRU Con-
nector as reference, per the following table:

QEC Switch ' Switch Resistance LRU Connector
Position . In Ohms ~ Contact #
A Down/Up 0/ A6
B Down/Up 0/ «© A3
C Down/Up . Q/ oo A4
D Down/Up 0/ o Al
E Down/Up 0/ A2

SDI codes are checked by using an Ohmmeter with one lead in
contact with contact D3 of the LRU Interface Connector and the
remaining lead in contact with either D1 or D4 of the LRU In-
terface Connector.

Switch Position Contact D3 to Contact
b1 b4
0 Open Circuit Open Circuit
1 Open Circuit Short
2 Short Open Circuit
3 Short Short

ILS, AFS LOC/GS Switch Test

With one lead of an Ohmmeter at contact C6 of the LRU connector
and the remaining lead at either C5 or D2, observe the resis-
tance readings as indicated in the following table:

31-41-1
Page 507
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

ADF_ANTENNA SIMULATOR ALIGNMENT PROCEDURE

For the following procedure, it is recommended that the ADF Antenna
Simulator Alignment Accessory (KPN 062-5001-00) is utilized. The
Accessory provides easy connection of a power source, loading of the
output lines, and easy connections for test equipment.

1. Connect a dual power source to the Simulator I/0 Connector or the
alignment Accessory as follows:

I/0 Connector Power Source
Pin #

K +12VDC +.2V

M GND

L -12VDC +.2V

2. Load all three outputs (Sense, Sine, Cosine) with a 78 Ohm +3 Ohms
load. A
Output Pins
Hi Lo

Sense A B
Sine G H
Cosine D E

3. Apply a 577 KHz signal at 1.0 VRMS + .02V to the RF input jack on
the front panel.

4. Apply power to the circuit and monitor the sine output signal with
one channel of a scope and the cosine output with a second channel
of the scope. (SYNC the scope on the RF input using the external
SYNC for the entire procedure.)

5. Operate the antenna mount switch and observe that in the TOP posi-
tion the signal inverting relay K1 is not energized and that in
the BOTTOM position the relay is energized.

6. Place the antenna mount switch in the TOP position and maintain
this position until instructed to change it.

7. Loosen the screws that secure the goniometer to the planetary
drive unit. Do not Toosen the set screw on the shaft coupler.

8. Position the planetary drive unit for a bearing of 45° by rotating
the dial and ensure that this setting is maintained until instruc-
ted to change the bearing.

9. Rotate the goniometer until both the sine and cosine output sig-
nals are in phase and roughly the same amplitude.

31-41-1
Page 509
15 February 1984



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

NOTE: 1If either signal is not present, then adjust R13 or R14
respectively.

10. Having completed Step 9, now check the phase relationship of the
sine, cosine, and sense output signals.

NOTE: If the sine and cosine signals are not in phase with the
sense signal, then rotate the goniometer 180° and return
to Step 9.

STATEMENT: Once Step 9 and 10 are satisfied, the rough positioning
of the planetary drive on the goniometer is completed and
it is now possible to fine-tune the circuit.

11. Rotate the planetary drive dial to a bearing of exactly 0° and
maintain this setting until instructed to change the bearing.

12. Monitor the sine output signal and observe a null or near null
output.

NOTE: A more precise null may be observed by use of an analog RF
voltmeter.

13. Gently rotate the goniometer to obtain the best null, making sure
that the planetary drive remains stationary at 0°

14. With the three preceding steps satisfied, and making sure that
the goniometer and the planetary drive remain stationary, so as
not to detune the circuit, tighten the screws that secure the
goniometer to the drive unit.

15. Rotate the planetary drive dial 360° and observe that the sine
output signal is null at 180° and 0° bearing +.4°,

16. Monitor the cosine channel output signal. Rotating the drive
dial, verify nulls at 90° +.4° and at 270° +.4°.

17. Rotate the drive dial to 45°.

18. While monitoring the sense and sine output signals, place the
Antenna Mount switch in the BOTTOM position and observe that the
sine signal is 180° out of phase with the sense signal.

19. Return the Antenna Mount switch to the TOP position.

20. Rotate the drive dial to 0.0°.

21. Monitor the cosine output signal and adjust R13 for an amplitude
of 38 mVRMS + 1 mV.

31-41-1
Page 51
30 April 1982



I.

J.

(5)

DFIU

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

Switch Position Contact C6 to
s D2
Continuous 0 o
Off s o)
Interrupted 0 0

Audio Load Switches Test

With an Ohmmeter, monitor the receiver and marker audio jacks,
not sequential, and observe the various position readings as
given in the following chart:

Switch Position Resistance
In Ohms
200 200+5%
400 402+5%
600. 604+5%
4.7K 4700+5%
10K 10000+5%
EXT 0
AMP 604+1%
POWER UP

Connect a 28 VDC source to the DFIU DC power connector and
apply power.

Observe the DFIU power indicator illuminating when the DFIU
switch is in the ON position ONLY.

Check for +28VDC at Pins 2 and 3 of J1 on the Audio Amp board.

Check the press-to-test lamps in the marker section to ensure
illumination.

AUDIO AMP TEST

(1)

Leave the DFIU power source connected and the DFIU power
switch ON for the following test.

Place the appropriate audio load switch in the AMP position.
Apply a 1 KHz sine wave of 7V P-P to the monitor jacks.

The signal should be clear and not distorted.

After the RCVR and MKR audio circuits have been checked indi-

vidually, apply a signal to each input simultaneously and
observe that the audio is summed.

31-41-1

Page 503
30 April 1982



22.
23.

24.
25.

26.
27.

28.

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00
Rotate the drive dial to 90.0°.

Monitor the sine output signal and adjust R14 for an amplitude of
38 mVRMS + 1 mV.

Rotate the drive dial to 45.0°.

Compare the sine and cosine output signals, verifying that they
differ by no more than .25 dB.

Measure the sense output. Verify 30 mVRMS +1.5mV @ 0° thru 360°.

Change the input frequency to 190 KHz, keeping the signal at
1 VRMS + .02V. Verify the following:

Output Dial Measure
Setting
Sine 90° 23 mVRMS + 4 mV .032 Vpp
Cosine 0° 23 mVRMS + 4 mV
Sense 0° thru 360° 30 mVRMS + 1.5 mV

Change the input frequency to 1750 KHz, keeping the signal at
1 VRMS + .02V. Verify the following:

Output Dial Measure

Setting
Sine 90° 23 mVRMS + 4 mV
Cosine 0° 23 mVRMS + 4 mV
Sense 0° thru 360° 30 mVRMS + 1.5 mV

31-41-1
Page 511
15 February 1984



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

4. VOR LRU CABLE (KPN 062-1201-01) TEST PROCEDURE

A. With an Ohmmeter on the RX1 scale, check for zero resistance between
opposite ends of the cable per the following list:

DFIU CONNECTOR LRU CONNECTOR

PIN # PIN #
Bl MP D9
B3 MP D6
B4 MP D2
B5 MP All
B6 MP A15
D1 MP A6
D3 MP C6
D4 MP B6
F6 MP A2
Gl MP B2
G2 MP C2
M5 MP C15
L5 MP D15
E6 MP B3
F3 MP C3
E3 MP D4
E4 MP C4
F1 - MP C7
F2 MP B7
L1 MP B9
M1 MP C9
L2 MP B11
M2 MP C11
L3 MP A4
M3 MP B4
L4 MP B13
M4 MP C13
M6 BP 2
L6 BP 3
N1-N6 BP 4
Tl TP C2
T2 TP A3
T3 TP C3
T4 TP B4
T5 TP A5
T6 TP C5
ul TP D2
uz2 TP D4
u3 TP B6
ud TP C7
U5 TP A7
Ub TP D6

31-41-1
Page 512
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

DFIU CONNECTOR LRU CONNECTOR
PIN # PIN #
V1 TP D8
V2 TP C8
V3 TP B8
V4 TP A8
V5 TP D10
V6 TP C9
Wl TP C11
W2 TP B10
W3 TP A9
Wa TP All
W5 TP D13
W6 TP D15
X1 TP B12
X2 TP C13
X3 TP A13
X4 TP C14
X5 TP B14
X6 TP Al4
Y1 TP B2
Y2 TP A2
Y3 TP B3
Y4 TP A4
Y5 TP C4
Y6 TP B5
Z1 TP D1
12 TP D3
Z3 TP A6
Z4 TP C6
75 TP B7
JAS TP D5
al TP D7
a2 TP Al
a3 TP B1
a4 TP C1
ab TP D9
ab TP D11
bl TP C10
b2 TP B9
b3 TP B11
b4 TP A10
b5 TP D12
b6 TP D14
cl TP Al2
c2 TP C12
c3 TP B13
o TP C15
c5 TP B15
c6 TP A15

Page 513
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

With an Ohmmeter set on the RX1 scale, check for zero Ohms between
opposite ends of the cable as follows:

(1) Center conductor of the MKR Cable BNC Connector to the center
conductor of BP 5 in the LRU Connector.

(2) Center conductor of the VOR Cable BNC Connector to the center
conductor of BP 1 in the LRU Connector.

(3) Case of both the above BNC Connectors to their respective
cases in the LRU Connector.

Check for and ensure an open circuit, with the Ohmmeter set on the
RX10 scale, between the center conductor and the case of both the
VOR Cable BNC Connector and the MKR Cable BNC Connector.

With an Ohmmeter set on the RX1 scale, check for zero Ohms between
the points on the following Tlist:

DFIU CONNECTOR LRU CONNECTOR
PIN # PIN #
ES BP 4
Fa BP 4
N1-N6 BP 4

Remove the connector housing from the LRU Connector. Locate the
MKR Audio Cable and the RCVR Audio Cable. Ensure that the shields
of both these cables are not terminated at this end.

Refer back to Step A and check for zero Ohms (shorts) between

random points that are in close physical proximity to each other
on the DFIU Connector.

31-41-1

Page 514
30 April 1982



KUSTOM ELECTROMICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

5. ILS CABLE TEST PROCEDURE

A. With an Ohmmeter set on the RX1 scale, check for zero Ohms between
the LRU Connector and the DFIU Connector per the following point to

point Tlist:
DFIU CONNECTOR LRU CONNECTOR
PIN # PIN #
T1 TP C2
T2 TP A3
T3 TP C3
T4 TP B4
T5 TP A5
T6 TP C5
Ul TP D2
U2 TP D4
u3 TP B6
ua TP C7
us TP A7
ue TP D6
V1 TP D8
V2 TP C8
V3 TP B8
' TP A8
V5 TP D10
V6 TP C9
W1 TP C11
W2 TP B10
W3 TP A9
W4 TP All
W5 TP D13
W6 TP D15
X1 TP B12
X2 TP C13
X3 TP A13
X4 TP C14
X5 TP B14
X6 TP Al4
Y1 TP B2
Y2 TP A2
Y3 TP B3
Y4 TP A4
Y5 TP C4
Y6 TP B5
Z1 TP D1
72 TP D3
Z3 TP A6
Z4 TP C6
Z5 TP B7
76 TP D5
Page 515

30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

DFIU CONNECTOR LRU CONNECTOR
PIN # PIN #
al TP D7
az TP Al
a3 TP Bl
ad TP C1
ab TP D9
ab TP D11
bl TP C10
b2 TP B9
b3 TP B11
b4 TP A10
b5 TP D12
bé TP D14
cl TP A12
c2 TP C12
c3 TP B13
c4 TP C15
c5 TP B15
cb TP A15

With an Ohmmeter set on the RX1 scale, check for zero Ohms between
the LRU Connector and the DFIU Connector per the following point
to point Tlist:

DFIU CONNECTOR LRU CONNECTOR
PIN # PIN #
B3 MP D1
B5 MP A13
B6 MP D15
Cl1 MP B5
c2 MP C1
C3 MP A5
c4 MP C5
C5 MP C3
C6 MP B3
D1 MP A7
D2 MP A3
D3 MP All
D4 MP A9
M5 MP B15
L5 MP C15
F1 MP B1
F2 MP Al
L1 MP B9
M1 MP C9
L2 MP B13
M2 MP C13
Page 516

30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

DFIU CONNECTOR LRU CONNECTOR

PIN # PIN #
M2 MP C13
L3 MP B7
M3 MP C7
L4 MP B11
M4 MP C11
M6 BP 2
L6 BP 3
N1-N6 BP 4
F4 BP 4

With an Ohmmeter set on the RX1 scale, check for zero Ohms between
the center conductor of the G/S Cable BNC Connector and the center
conductor in BP 5 of the LRU Connector.

With an Ohmmeter set on the RX1 scale, check for zero Ohms between
the center conductor of the LOC Cable BNC Connector and the center
conductor in BP 1 of the LRU Connector.

With an Ohmmeter set on the RX1 scale, check for zero Ohms between
the BNC Connector cases and their respective cases in the LRU
Connector.

With an Ohmmeter set on the RX10K scale, check for and ensure an
open circuit between each of the BNC Connector center conductors
and their respective cases.

Remove the connector housing cover from the LRU Connector. Locate
the RCVR Audio cable and ensure that the shield is not terminated
on this end of the cable.

31-41-1
Page 517
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

6. ADF LRU CABLE TEST PROCEDURE

A. With an Ohmmeter set on the RX1 scale, check for zero Ohms between
the LRU Connector and the DFIU Connector per the following Tist:

DFIU CONNECTOR LRU CONNECTOR
PIN # PIN #
Tl TP C2
T2 TP A3
T3 TP C3
T4 TP B4
T5 TP A5
T6 TP C5
Ul TP D2
uz TP D4
u3 TP B6
ua TP C7
us TP A7
ue TP D6
V1 TP D8
V2 TP C8
V3 TP B8
V4 TP A8
V5 TP D10
V6 TP C9
W1 TP C11
W2 TP B10
W3 TP A9
W4 TP All
W5 TP D13
W6 TP D15
X1 TP B12
X2 TP C13
X3 TP Al13
X4 TP C14
X5 TP B14
X6 TP Al4
Y1 TP B2
Y2 TP A2
Y3 TP B3
Y4 TP A4
Y5 TP C4
Y6 - TP B5
Z1 TP D1
12 TP D3
Z3 TP A6
74 TP C6
Z5 TP B7
76 TP D5

Page 518
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-11

DFIU CONNECTOR LRU CONNECTOR
PIN # PIN #
al TP D7
a2 TP Al
a3 TP B1
ad TP C1
a5 TP D9
ab TP D11
bl TP C10
b2 TP B9
b3 TP B11
ba TP A10
b5 TP D12
b6 TP D14
cl TP Al12
c2 TP C12
c3 TP B13
cd TP C15
c5 TP B15
cb TP A15

With an Ohmmeter set on the RX1 scale, check for zero Ohms between
opposite ends of the LRU cable per the following point-to-point
Tist:

DFIU CONNECTOR LRU CONNECTOR
PIN # PIN #
Al MP C5
A2 MP C4
A3 MP C7
A4 MP C6
A5 MP C9
A6 MP C8
B2 MP C13
B3 MP A13
B5 MP B3
B6 MP B15
D1 MP C1
D3 MP C3
D4 MP C2
F1 MP B2
F2 MP Bl
L1 MP B4
L2 MP B7
L3 MP B10
L4 MP B13
L6 BP 4
M1 MP B5

Page 519
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

DFIU CONNECTOR LRU CONNECTOR

PIN # PIN #

M2 MP B8

M3 MP B11

M4 MP B14

Mé BP 2

D5 MP Al4

D6 MP A15

Fa BP 3
N1-N6 BP 3

With an Ohmmeter set on the RX1 scale, check for zero Ohms between
the LRU Connector and the antenna connector (circular) per the
following point-to-point list:

CIRCULAR CONN. LRU CONNECTOR
PIN # PIN #

MP C10
MP C11
MP C12
MP D1
MP D2
MP D7

MP D8
MP D14
MP D15
BP 3

SToOmowerXrx

With an Ohmmeter set on the RX10K scale, check for shorts between
pins that are in close physical proximity of each other in the
DFIU Connector.

Remove the Connector housing cover on the LRU Connector and locate
the RCVR Audio cable. Ensure that the shield of this cable is not
terminated at the LRU end of the cable.

31-41-1
Page 520
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

DRAWINGS

To assist in maintenance of the T1201, assembly drawinas and schematics
are included in this section. For your convenience, a parts list for
each assembly is included with the drawings, as well as in the Parts
List section. They are arranged as follows:

Fig. # Drawing No. Description Page No.
501 300-0300-00 T1201 Final Assembly 523
502 300-5573-00 T1201 Audio Amp Bd Assy Dwg 532
503 300-5617-00 T1201 429 Bd Assy Dwg 532
504 002-0289-00 T1201 Schematic & Wiring Diagram 533
505 300-5616-00 T1201 ADF Antenna Simulator Assy 540
506 002-5616-00 T1201 ADF Antenna Simulator Schem 541
507 300-5572-00 T1201 Test Pt Bd Assy Dwg 546
508 002-0290-00 T1201 ATE Int Wiring 547
509 155-2347-00 ADF LRU Cable 551
510 155-2348-00 VOR LRU Cable 555
511 155-2349-00 ILS LRU Cable 559

31-41-1
Page 521/522
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

Figure 501
Sheet 1 of 4

155-2425-00

DETAIL A

Part Number

012-0020-00
047-1736-00
047-1739-00
047-1740-00
047-1741-00
047-1742-00
047-1743-00
047-1744-00
047-1746-00
047-1814-00
047-1815-01

089-5062-06
090-0424-90
090-0431-05
200-5621-00
089-5473-08
030-2215-00
030-2149-00
031-0188-00
047-1739-00
090-0354-00
155-2384-00
155-2387-00
089-2304-22
089-2306-22
089-5058-04

089-5058-07

089-2210-22
089-5058-10
089-5062-10
090-0073-00
155-2376-00
155-2377-00
090-0256-44
012-0015-00
200-5616-00

200-5573-00

200-5572-00

089-5158-03

089-5504-12'
089-2058-21

092-0004-03

029-0010-00
155-2425-00
089-5504-08
089-5504-06
025-1001-00
150-0001-04
041-0009--00

Ve

ALUM. PLATE REMOVED FOR
INSTALLATION

029-0010-00

Quantity Required Description

~

~n

§~..._._.,..4

-t NN W U N O ot ot s

TN 5O et ot ottt it 2 et NI TN 0 O o ot d ek et N ) med ot

2 ft. Brow Vynal Tape
Front

Rear Panel
Enclosure Top/Bottom
Side Panel
Connector Floor
U Bracket
L Bracket
Antenna Simulator Enclosure
P.C. Bd Hold Bracket
Connector Hold Bracket
Screw PHP 6-32 x 3/8
Mounting Rail Modified
Handle
T-1201 Jumper Card
Screw PHP Self Top # 6-32 x %
DL 2-96 Connector Recpt.
Power Connector
Slide Switch
Rear Panel
Dual Bindinag Post
Data Bus Cable
Collins Interface Cable
Nut, Elastic Stop 4-40
Nut, Elastic Stop 6-32
Screw PHP #4-40 x 3/16
Screw PHP #4-40 x %
Nut Clinch 6-32
Screw PHP #4-30 x 5/8
PHP Screw 6-32 x 5/8
6 pos Term Block
BS1 Cable Assembly
BS2 Cable Assembly
Card Guide

SF Fish Paper

Antenna Simulator P.C. Board Assembly
Audio Amp Assy.
ATE Test Point Assy
Screw FHP 4-40 x 3/16
Screw FHP 4-40 x 3/4 Black
Mut 4-40 KEPS
Spacer 4-40 x 5/16

' Rubber Foot
Rubber Foot
Dual Speed Drive
Goniometer and Cable Assembly
Screw OHP 4-40 x % Black
Screw OHP 4-40 x 3/8 Black
Bus Wire
Teflon Tubing
Grill Clath

\— ITEM NUMBER

—TOTAL UNIT QUANTITY
(IF GREATER THAN 1)

arv | sant numeen DESCRIPTION Jrrew)

€0

349

ad
|
e

\ Lo 12 2] KUSTOM ELECTRONICS, INC.
“.2 TN WIST OEETIM, OV KAAS TS0
Wg %‘gl— Lm-a.:u:.l .-n-re-ﬁml
R ANGLES: ¢

wam T 120 size
FINAL ASSEMBLY | D

T JPART NUWSER
4 ] 300-0300-00

MFG ENOR JDATE

Page 523/524
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

200-5572-00

REF TO SHEET |
FOR INSTALLATION

CONNECT
155-2372-00—

Si2

200-5573-00 ? E4

REF TO SHEET | E%
FOR INSTALLATION E7
r=-=---= 2 8
©, 1@ g
1 \ El't')
—
' [ EI2
' ] El
[ S 4

o

200-5617-00
r=ir=a

CONEES
(]

1
1941 3}

Lmd Lmu

S3 S4 S5

S6

= -

029-0010-00 WITH

155-2425-00 ATTACHED
SEE SHEET | DETAIL A

OPPOSITE END
CONNECTS TO J2
ON 200-5616-00

P2 O

155-2337- 00—
oo

BUSSELBSELALEENY RESER

1. Was 155-2384-00

2..Was 155-2385-00

3 21 2 ! 12
Py 3
0) I 2
L N 4 0
(3 4 L) A
e [} 78 Fi, F2

Si4,818
KEY FOR 7
POSITIONS

!
@ O
DS4,DS5 oS |

DSs2
Ds3

\LOC‘K WASHERS TO BE MOUNTED
BEHIND FRONT PANEL

Figure 501

Sheet 2 of 4

CANANLWN—

Part

§1-511
S13
514,515
S16
§17,s18
Jl

J8,J10, !

J12-J15
99,011

Part Number

012-0020-00
047-1736-00
047-1739-00
047-1740-00
047-1741-00
047-1742-00
047-1743-00
047-1744-00
047-1746-00
047-1814-00
047-1815-01
089-5062-06
090-0424-90
090-0431-05
200-5621-00
089-5473-08
030-2215-00
030-2149-00
031-0188-00
047-1739-00
090-0354-00
155-2384-00
155-2387-00
089-2304-22
089-2306-22
089-5058-04
089-5058-07
089-2210-22
089-5058-10
089-5062-10
090-0073-00
155-2376-00
155-2377-00
090-0256-44
012-0015-00

KPR
031-0186-01
031-0186-00
031-0186-05
031-0184-90
031-0184-91
031-0124-00

030-2214-00

030-1039-01
030-1039-02

132-0017-00
130-0223-23

037-0075-00
037-0075-01
037-0075-02
037-0069-01
037-0069-01

w

Quantity Required Description
2 ft. Brow Vynal Tape
1 Front

Rear Panel

Enclosure Top/Bottom
Side Panel

Connector Floor

U Bracket

L Bracket

P.C. Bd Hold Bracket
Connector Hold Bracket
Screw PHP 6-32 x 3/8
Mounting Rail Modified
Handle

T-1201 Jumper Card

B O ottt NN

~

OL 2-96 Connector Recpt.
Power Commector
Slide Switch
Rear Panel
Dual Binding Pest
Data Bus Cable
Collins Interface Cable
MNut, Elastic Stop 4-40
Mut, Elastic Stop 6-32
Screw PHP #4-40 x 3/16
Screw PHP #4-40 x
Mut Clinch 6-32
Screw PHP #4-40 x 5/8
PHP Screw 6-32 x 5/8
6 pos Term Block
BS1 Cable Assembly
8S2 Cable Assembly
Card Guide

SF Fish Paper

—ENN WA NG - —— g,,.__._.._.\.‘.,,..s__.__...._._,...\,

Audio Amp Assy.
ATE Test Point Assy
Screw FHP 4-40 x 3/16

MNut 4-40 KEPS

Spacer 4-40 x 5/16
Rubber Foot

Screw OHP 4-40 x % Black

Screw OHP 4-40 x 3/8 Black

Bus Wire
Teflon Tubing
Srill Clnen

Description

MTF 106E SPDT

MTF 106D Switch SPDT
MTF 206N Switch DPDT
MRS 1-12 S Rotary Switch
MRS 2-6S Rotary Switch
20 Amp Switch

DL1-156 Connector Receptacle
Black Banana Jack
White Banana Jack

1 Ohm 1% 5LV Resistor
22K %W Resistor

Antenna Simulator Enclosure

Screw PHP Self Top # 6-32 x %

Screw FHP 4-40 x 3/4 Black

Goniometer and Cable Assembly

Antenna Simulator P.C. Board Assembly

Press to Test Lamp, Clear
Press to Test Lamp, Amber
Press to Test Lamp, Blue
Lamp Holder with Red Lens
Lamp Holder with Red Lens

w/037-0070-00 Lamp
w/037-0070-00 Lamp
w/037-0070-00 Lamp
w/037-0070-00 Lamp
w/037-0006-01 Lamp

Sl KUSTOM ELECTRONICS , INC.
9 I2 -8l 1% WEST OUSTMUT, CHANUTL KNS 60720
[ u\'b B
2-8/ Jimman: xxx:£.010 woLEs: £.008
s oaTe XX:203  AWGLES: %1
wam Y201 e
QUAL CONY FINAL ASSY D
—
~ for 4 300-0300-CO

31-41-1
Page 525/526
15 February 1984



C X P R YL B

BoS385882CASSNEY NNEERHEIBTAAZIN2Y

090-0073-00
155-2376-00
185-2377-00
090- 0256~ ¢4
0€12-0015-00

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

=

‘l}__\‘\\\\

fventity Roquired  Dgscriptien

Srew Vyns! Tape

froat

fear Pone!

Enclosure Top/Bettom
Side Pane!

Connector Floor

U Srachet

L Sracket

Antenns Stswlater Enclesere
P.C. 84 Mold Bracket
Connector Hold Bractet

o~ -
-
-

TB3

©)Xe)

(U]

O/
HR
H

{RTTIL

s

Screw PP 6-32 & V/8
Mounting Rail Madified
Handle

T-1201 hasper Card

Screw PHP Self Top ¢ 6-32 = §
OL 2-96 Connecter Recpt.
Powar Commector

Slide Switch

Nwt, Elastic Step 4-40
Mt Elastic Step 6-32
Scrow PP 04-40 s V16

SRRV RRG - ..._.......::.'..8_---__...........z._-.._..
»

052 Codle Assemdly
Cord Cuite
t 4 Fish Pugur
Antonns Stmmiater P.C. Suard Assmmdly
Aodie Ay Masy.
ATE Test Petat Assy
Screw PP 4-00 = V18
Screw AP 4-40 = V8 Black
Rt 4-80 KPS
Specer 4-80 x W
Aubber foot
Rabber Foat
Oua) Speed Oriw
Sont ond Cible Ausemdly
Screw OF 4-80 z § Slack
Screw O -89 x V8 Stk
Sus Mre
Teflon Tubing
o et

RED

Figure 501
Sheet 3 of 4

NOTE:

(A \— ITEM NUMBER

\B_/— quanTiTy

REAR PANEL -INTERIOR VIEW
a 2 ] [

1

PART NUMBER r

T
DESCRIPTION i

DRN

OATE

a2 | wRG | 52 ] xuSTOM ELECTRONICS «C

3 CHK DATE 10 WEST CSTRUT Tt T s abias e
. 72 E

1S E DATE | TOLERANCES UNLESS N: €D

3 | /-27-82 Linear xxx %010 HOLES ts
MFG ENGR [DATE xx *03 ANGLES ¢

olS NAME T120] .=

o QUAL CONT JDATE FlNAL ASSY D

> SCALE SHT 3 | PART NUMBER

=l—l or 4 ]300-0300-00

31-41-1

‘Page 527/528
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

8s2
[ L)
5 [o o] [o[2 Jot| . A
T81 o 123 llallslle P 2 - Part Number ntity Required Description
8st 1 012-0020-00 2 ft. Brow Vynal Tape
2 047-1736-00 1 Front
3 047-1739-00 1 Rear Panel
26} 26 50 4 047-1740-00 2 Enclosure Top/Bottom
0 S = 5 047-1741-00 2 Side Panel
y (@] LQI i : [Q 6 047-1742-00 ] Connector Floor
7 047-1743-00 1 U Bracket
e ! = s ! 28 8 047-1744-00 1 L Bracket
9 047-1746-00 1 Antenna Simulator Enclosure
10 047-1814-00 1 P.C. Bd Hold Bracket
n 047-1815-01 6 Connector Hold Bracket
14 26 12 089-5062-06 24 Screw PHP 6-32 x 3/8
P —— o 13 090-0424-90 2 Mounting Rail Modified
JP2 KQ] D [0] 14 090-0431-05 2 Handle
T 5] 16 200-5621-00 1 T-1201 Jumper Card
17 089-5473-08 4 Screw PHP Self Top # 6-32 x
18 030-2215-00 1 DL 2-96 Connector Recpt.
19 030-2149-00 1 Power Connector
20 031-0188-00 1 Slide Switch
21 047-1739-00 1 Rear Panel
22 090-0354-00 1 Dual Bindina Post
23 155-2384-00 1 Data Bus Cable
24 155-2387-00 1 Collins Interface Cable
25 089-2304-22 20 Nut, Elastic Stop 4-40
CONNECTOR PLATE 26 089-2306-22 4 Nut, Elastic Stop 6-32
27 089-5058-04 6 Screw PHP #4-40 x 3/16
T-12010 28 089-5058-07 13 Screw PHP #4-40 x %
29 089-2210-22 17 Nut Clinch 6-32
30 089-5058-10 1 Screw PHP #4-40 x 5/8
3 089-5062-10 4 PHP Screw 6-32 x 5/8
32 090-0073-00 - 1 6 pos Term Block
3 155-2376-00 1 BS1 Cable Assembly
34 155-2377-00 1 852 Cable Assembly
35 090-0256-44 2 Card Guide .
3% 012-0015-00 .500 SF Fish Paper
37 200-5616-00 1 Antenna Simulator P.C. Board Assembly
38 200-5573-00 1 Audio Amp Assy.
39 200-5572-00 1 ATE Test Point Assy
40 089-5158-03 6 Screw FHP 4-40 x 3/16
41 089-5504-12 5 Screw FHP 4-20 x 3/4 Black
42 089-2058-21 5 Mut 4-40 KEPS
43 092-0004-03 3 Spacer 4-40 x 5/16
44 090-0137-00 2 Rubber Foot
45 090-0401-00 2 Rubber Foot
46 029-0010-00 1 Dual Speed Drive
47 155-2425-00 1 Goniometer and Cable Assembly
438 089-5504-08 Screw OHP 4-40 x % Black
49 089-5504-06 Screw OHP 4-40 x 3/8 Black
50 025-1001-00 Bus Wire
51 150-0001-04 Teflon Tubing
52 041-0009-00 Grill Cloth
=E{ ! T
bl QTY | PART wusesn DESCRIPTION I
skl { S dirid KUSTOM ELECTRONICS, INC.
1 S 62 ] v owmn ownm ianwrm
g :l € > [oare (17
} 2 -2 4 Lmman: xxx:2.00 woLes:* 008
MFG GNOA JOATE XX:$03  AWGLES:tT
d¢fe NANE T_ 20| =3
™
uAL SO FINAL assv.. JD
i SHT4  FPART mumseR
il =4~ ler 4 ] 300-0300-00

Figure 501 _
Sheet 4 of 4 3 1Pag€_5!9/53-(|)
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

O ~—"">~_0 e
7 o N CITJes ES5
/ o _— — on \ —{RI2}- €6
/ yag \'\' \ E7
/ \ \ {Re - es
/ \ \ | R5} e
| | | RIZ} Eq
\ / R} en
N ;! %
\\ \—~ // , e
— .
N ~ R <>
I ~ ~—e——. — @ !
O { RS}
(R4}
ce IS+ ¢t
(o R
©
" Qe
Iy
ELr g o ]
E2 El
& DESCRIPTION Jivew
JEE T ek o'
g 365 | rouum'c_uﬁ_—_—‘ SwoTED:
SLl A X 205 ANGLES:ST
alalol % w7201 size
© !;‘?, 9 AUDIO A|MP BD. | 8
¥~y *300- 5573-00
oty

Figure 502

r—-—--=- - -==-=- A
! N |
1 1 |
| h 1
! 44 ) J3 '
JE | ' \
I N
' e /)
| 7/ ] 7/
& ] v ______ 7/ b e e = 7
|
r—-—---= arT— - — 7= 1
| h |
] h |
| ' 1
| ol i
| |
| .\ e
! S /
P . 7 /
' J7
i Y arv | sant wousen DESCRIPTION I
05 2 ] eusrow muecproncs
H 5 0 =XoATE . JTOLINANCES WALlS NOTED:
H M /2- Lmgan:.xxx:2 010 woLEs: E.008
MFQ ENGR 7518.‘!- XX:2.03 Anm.u:z:u .
n nAME
3I§l 51 Ti200 429 BD. LA
108 2 1 Jor 300-5617-00
Figure 503

31-41

Page 531/532
30 April 1982




KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

Figure 504

Sheet 2 of 2

Js2 JI3 @ @
352
CURRENT MONITOR | 25 © CURRENT MONITOR
CURRENT MONITOR | 13 - ‘"j ©
JI
HOT LRUMSV |25 —(© HOT
coLp AC OUT 12 ® coLd LRU 115V AC OUT
24 SPARE ) 15
" SPARE
23 SPARE
10 sPARE |
22 SPARE [ "
9 SPARE
21 SPARE
s SPARE |
F MKR LAMP 20 \ oS
MIDOLE MKR LAMP | 7 s F MKR
OUTER MKR LAMP |19 327 BULB
6 SPARE
18 SHIELD ) N.C.
S SPARE Jit Ds2
RCVR AUDIO H! 17 @ RCVR 3 MIDDLE MKR
RCVR AUDIO LO 4 —@© AUDIO j 327 BULB
16 SPARE c Jio 2
3 sweco & 4o
MKR AUDIO MI 15 @ MKR DS 3
MKR AUDIO LO 2 @ AUDIO 3 OUTER MKR
78
14 SPARE J8 327 BuLS
| . - N.C.
] T SPARE
|L7 L8 M1 M2M3 4 M5 M6 M7ME NI N2 N3 N4 NS NE N7 N8 PI P2 P3 P4 PS P6 PT Pal BS3
T ] T ]
J2 20 2
ATE CONNECTOR 2 3
21 4
3 5
22 6 | To rREMOTE
CONTROL BD.
4 7
23 8
5 9 _
CONNECTOR _]
F————————- 24— 10 [ comeer
| 429 BUS MONITOR BD. ] 6 1 | T81
a3 | 200-5617-00 28 12 | e +28V_SWITCHED
T83
4 9P| 1 T 42 |IPT 7 3 2oy - s |0C 6ND L s Fa
p R K U PWR
RX PORT A Hi u 73 IK) | By 7y 26 NRUT | o X o |r2em | RN )
RX PORT A LO M 1] - ) 8 R 1 1 > %3 v
RX PORT A SHIELD | NI i3 | A J3 13 )13 27 | [ (03 327 uis
RX PORT B NI L2 e |2 2|2 9 e i l I -
RX PORT 8 LO u2 12 |z s 12 |12 28 | T1200 INTERFACE 7 COLD 4 3 + UUT PWR !
RX8 4 CONNECTOR 2A
RX PORT B SNIELD | N2 3]s 3|s 10 w HOT | 2 , e gy
TX PORT A HI L3 nwin nln 29 X NEUT . | 2 sa (i R2
TX PORT A LO u3 ala 91 3 ala " 1I5VAC 400Hz T A
A .5 INPUT . © |cnassis 80EC4 22K
TX PORT A SHIELD |N3 1010 10|10 30 T GND. | NEON 1/4W
TX PORT B NI Ls s|s R 5158 12 | In $RI
TX PORT B LO ne (R K S 9|9 31 I'O’;
TX PORT 8 SHIELD | N4 6le 46 sls 13
17 —e | 7] 7
sls sls
! | 2
b — 2L
CHASSIS GND. ns —] (155-2408 -00) JP8 JS8 (155-2407-00)
.CHASSIS_ GND. ne SREEN B GREEN )
1SV AC 400 ¥z COLD] L6 WHITE 212 WHITE oty | sant numeen DESCRIPTION Jivew
BLACK BLACK I
HSVAC 400 Hz MOT | M6 ALK 313 3 " -~ KUSTOM ELECTRONICS INC.
- y
i “ » ERA Ky >
K A t08 . AMOLER-L T
t——————® 70 GND TERM ON TEST POINT BD. (C) N CoY - . :
200-5572-00 ¢ // N o A T 1201 SCHEMATIC[S/2¢
© N AL Y01] a WIRING DIAGRAM | D .
¥ N 5 I™%
214 ~~ Jor 2 | 002-0289-00

Page 535/536
30 April 1982



ASSEMBLY NO:
DESCRIPTION:
ASSY DWG NO:

QTY/
REF _NO

C1
cz2,3
C4

(61)

Ccé

CR1
E1-13
I1

J1

LS1

R1
rR2,3
R4,5
R6
rR7,8
R9,10
R11,12
R13,14
R15,16

ASSEMBLY NO:
DESCRIPTION:
ASSY DWG NO:

QTY/
REF _NO

Ji1,2
J3-6
J7

200-5573-00
AUDIO AMP BD
300-5573-00

D RI ON

CAPACITOR ALUM 1000 UF 50V
CAPACITOR TANT 100 UF 20V 20%
CAPACITOR D/C .001 UF Z5F 20%
CAPACITOR TANT 33 UF 25V 20%
CAPACITOR ELECT 100 UF 25V
DIODE ZENER 1N4746

CONTACT STRIP

IC LM38ON

POST HEADER 3 PIN

SPEAKER 2 IN

RESISTOR FLM 200 OHM 1/2W 5%
RESISTOR MFLM 604 OHM 1/8W 1%
RESISTOR FLM 470K 1/4W 5%

POT 10K A TAPER

RESISTOR MFLM 200 OHM 1/8W 1%
RESISTOR MFLM 402 OHM 1/4W 1%
RESISTOR MFLM 604 OHM 1/8W 1%
RESISTOR FLM 4.7K 1/4W 5%
RESISTOR FLM 10K 1/4W 5%

AUDIO AMP PC BD
CUSHION SPEAKER

200-5617-00
ARINC 429 MONITOR BD
300-5617-00

DESCRIPTION

LOW PROFILE DIP SOCKET 14 PIN
PCB MTG PHONE JACK
CONTACT STRIP 4 PIN

429 MONITOR BD T1201

KPN

095-0024-12
096-1007-17
109-1021-16
096-1007-31
095-0024-07
007-5079-18
030-2078-14
007-7316-00
030-2144-01
038-0023-01
130-0221-13
125-6040-01
130-0474-23
133-0079-00
125-2000-01
125-4020-11
125-6040-01
130-0472-23
130-0103-23

009-5573-00
187-0012-00

KPN

033-0008-02
030-1038-01
030-2078-04

009-5617-00

31-41-1

Page 537/538
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual

T1201 - Part No. 062-1201-00

GRN
YEL
RED

BLK
BLUE
ORN

i
(e
2 o
. @

I
— {rE}
) O il
B>
@@@D
A R —{RI7 }-
N :Z€§’1nm] e
LRz} . o -
) ° Tt |
G
R+ R —{ Rl I+
{Rai R (2] |
R} 4nn—@ (a9
-1 _R6 }- —{_RIO_}-

Ji SECURED TO PC BD. WITH 089-5054-04 SCREWS

DESCRIPTION Jrrenf

1000 WEIT OEIRST, CANUIL KANMS PDD

oata ] o APP

3-82 RV

LnmAR: .xxx:%.010 nouﬁhr
XX:$03  ANGLES:t

c.0.
190

WAME ADF ANT.
SIMULATOR

KUSTOM ELECTRONICS, INC. }!

|

|

Figure 505

‘“1§§{;swfgg.;;ﬂ
31-41-1

1

Page 539/540
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual

T1201 - Part No. 062-1201-00

+|2V AN

155-2337-00
J3 J27\J-l

+12V ,
47
RS GND Iﬂ\
! o t/aw Y 12V T 47
RF IN cl -12v ' e
47 | 3\|, T Q3 C4 RI7 10
BNC R13 T3 68
5K \I AN'
L ) '
a [ - COSIN
1 > < LT 3./ NULL AT 90°
I 2 @ - -
-2V = -l2v /
SCOT INC. 6 T2 SIN
Il HCW5-004 NULL AT 0°
GONIOMETER RIS K
v (NOT ON BD) 1 68 6
CONNEETS TO J2 - ] 4
(KPN: 155-2425-00) 81 o1
Ill [
o L e ndl
| 172 ANTENNA BOTTOM P~
| MoUNT sw.  do———< &(A)—+I2v
+12V | ON FRONT 61/%—‘_(1
PANEL é—(BF
R10 L s13 or CRI
221 1%,1/8W Q5 c|3 _se8__ _ _ _ L
‘—"-Wv .
A} TS A
R9 vl VWA—
52.3 RI2 - RI
1% 1/74W 2.2K 68.0 SENSE
| 3: | ]
= -12v g
g JI‘ ary DESCRIPTION
NOTES: 1
l. ALL CAPACITOR VALUES IN uf UNLESS NOTED. . % -
2. ALL DIODES ARE IN4l48 w ™
3. ALL RESISTORS ARE 5%,1/4W UNLESS NOTED. H B e 173 Jt g
ARE 2N2222A AT Xx: ¢
4. ALL TRANSISTORS ARE 2N22 ole m it
°Ja B [
LE SHT | | PART NUMBER
¥l- = e 002-5616-00
Figure 506

2

3

I K

2 M

3L

[ |

KUSTOM ELECTRONICS, INC.

1010 WEST GHISTINUT, CHANUTE, KANSAS 64720

TOLERANCES UNLESS NOTED:
LEAR:.XXX:-2.010 wOLES: £.008
ANGLES:*1°

NA  ADF ANT. ¥
SIMULATOR | B

31-41-1
Page 541/542
30 April 1982



ASSEMBLY NO:
DESCRIPTION:
ASSY DWG NO:

QTY/
REF NO

Ccl1

ca
C3-5
cé6,7
CR1

J1

J2

J3

K1

L1
Q1-5
R1

R2

R3

R4

RS

R6
rR7,8
RO

R10
R11
R12
R13,14
R15,16
R17,18
T1,2
T3-5

N = N e

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

200-5616-00
ADF ANTENNA SIMULATOR ASSY
300-5616-00

DESCRIPTION

CAPACITOR M/C .47 UF 100V
CAPACITOR MICA 150 PF
CAPACITOR M/C .1 UF 100V 10%
CAPACITOR M/C .47 UF 100V
DIODE 1N4148

BNC PCB MTG CONN

POST HEADER 6 PIN

POST HEADER 9 PIN

RELAY DPDT 12V W/DUST COVER
INDUCTOR 470 UH 10%
TRANSISTOR PN 2222A

RESISTOR
RESISTOR
RESISTOR
RESISTOR
RESISTOR
RESISTOR
RESISTOR
RESISTOR
RESISTOR
RESISTOR
RESISTOR

FLM 2.2K 1/4W 5%

MFLM 866 OHM 1/4W 1%
FLM 2.2K 1/4W 5%

FLM 100 OHM 1/4W 5%
MFLM 52.3 OHM 1/4W 1%
FLM 100 OHM 1/4W 5%
FLM 2.2K 1/4W 5%

MFLM 52.3 OHM 1/4W 1%
MFLM 221 OHM 1/8W 1%
FLM 68 0OHM 1/4W 5%
FLM 2.2K 1/4W 5%

POT SK 4T 20% 3339

RESISTOR
RESISTOR

FLM 10 OHM 1/4W 5%
FLM 68 OHM 1/4W 5%

TRANSFORMER 1:1
TRANSFORMER 3:1

ADF ANTENNA SIMULATOR PCB
CONTACT STRIP 1 PIN

LOW PROFILE DIP SOCKET 16 PIN
SCREW PHP 2-56 X 1/4

KPN

107-0000-23
100-0003-19
107-0000-18
107-0000-23
007-6016-00
030-0042-00
030-2144-04
030-2144-07
032-0006-01
019-2016-42
007-0132-00
130-0222-23
125-8660-11
130-0222-23
130-0101-23
125-0523-11
130-0101-23
130-0222-23
125-0523-11
125-2210-01
130-0681-23
130-0222-23
133-0063-01
130-0100-23
130-0680-23
019-7075-00
019-7076-00

009-5616-00
030-2078-01
033-0008-04
089-5054-04

31-41-1

Page 543/544
30 April 1982



KUSTOM ELECTRONICS, INC.

T1201 - Part No. 062-1201-00

Cverhaul Manual

ONOMOMGO,
GQ@OO
&6 O 6
O 0 60 6
® 6 6 O

® 6 0 O
®

®
O ®
®

® ©®

® & © O
® © ©

®
®
®

® ® &

®
®

® &

® @

® ® ®

® ® ©
O

® ® ®

®
®

®

®
O

®

COMPONENT SIDE

® ® @

NOTES:
. 076—-0001-46 HEX SPACER (ONE EACH) TO BE
SECURED WITH ONE 090-0004-07 SHOULDER
WASHER AND ONE 089-5026-04 SCREW.
2. 076-0001-46 HEX SPACER (FIVE EACH) TO BE
SECURED WITH FIVE 089-5026—-03 SCREWS.

"COMPONENT SIDE

=1, SEE NOTE=®|

Figure 507

. |
SOLDER SIDE SEE NOTE 2
o .
1= ary | pant numsen DESCRIPTION | e |
sBls 81 KuSTOM ELECTRONICS, INC.
bATE 1010 WO OBETAR, O KANaAs a7
R o o
S0 .’ 29 m‘ﬁ:x:m'mt:tm ’
XX:2.08 ANGLES:t T* .
|35 S fwam 71201/ 2 wa
=R Test pr.eo. § C
i 300-5572-00 " ! -

31-41-1
Page 545/546
15 February 1984



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

r-—-——-—--—-"-""""""—""—-"""——-- |
m | 435} ap5 200-5572-00 :
TI 1 | %)cz
T2 3 2 @® A3
T3 5 42]3 @®C3
T4 744 |a —@® B4
T3 9 - © 5 ® A5
T6 - s1e6 -® C5
V1] 13- 717 -® D2
2 15+ 8 8 —® D4
u3s 74 9|9 -® B6
us 19410 |10 —@ C7
us 204 10 1 1 ® A7
ue 234 12 |12 —@® D6
vi 25— 13 |13 ® D8
v2 = 27 14 | 14 —@C8
v3 - 29 '5 |15 @ B8
ve 31416 |16 —@® A8
vs 3347 |17 ® DIO
vé - 35 18 | I8 —@® C9
wi 37419 |19 @® ClI
w2 39 420 |20 —@® BIO
w3 41 H 21 |21 ® A9
we 43 {22 |22 —@®@ All
wS q5 423 |23 —@® DI3
wé 47 - 24 |24 —® DI5
X1 49 4 25 |25 @ BI2
X2 - 51 —| 26 |26 ©®CI3
x3 53 -{ 27 |27 —® AlI3
x4 — 55 — 28 |28 ®Cl4
LRU X5 57 - 29 | 29 @® Bla
" INTERFACE X6 59 — 30 | 30 —@® Al4
CONNECTOR Yl 2 —31 |31 ® B2
Y2 4 43232 —@® A2
Y3 6 33|33 -®B3
Y4 8 —34 |34 @® A4
Ys 10 43535 -® C4
) (] 12 <36 |36 ® B5
b4 - 14 —37 |37 —@® DI
22 16 —/38 |38 —@® D3
13 - 18 439 |39 @® A6
24 20— 40 |40 ® C6
&) 22— 41 |41 ® B7
ze 24— 42 |42 —@ D5
al 26— 43 |43 -® D7
02 28 — 44 |44 —® Al
e3 30— 45 |45 ® Bl
(L} 32— 46 |46 ® Cl
(1] 34 47 |47 —® D9
[ 36 —{ 48 |48 ® DI
bl 38 —{ 49 (49 -® CI0
b2 40 —{ 50 |50 @®© B9
b3 - 42 —{51 |51 -® Bl
b4 44 — 52 |52 AIO
s 46 —{ 53 |53 @®DI2
[ ] 48 — 54 |54 ®Dl4
cl 50 — 55 |55 ® Al2
fe2 52 — 56 |56 —@CI2
c3 54 — 57 |57 ®BI3
c4 - 56 — 58 |58 @®CI5
(1] 58 — 59|59 BIS
c6 60 — 60 | 60" AlS
Ale
L 0 O +H4 L Bl6
r 7 Foce
’ | ©DI6
i [222:2::2522:83235833385838332832;33533;::‘::E;858;%"}2;%2;2;2 J3 —mwzgmz——zwmheeﬂ],__ c
. o e DESCRIPTION Tw-
ATE INTERFACE CCNNECTOR COLLINS TEST CONNECTOR
- eustom s Tions o
Elﬂ - Ymmu N En
e CiNEAR 1 o e
°I. s LT 1§ - L3N] 3
© .
re 4 PART WiNaRee =
K ol Ceo-¢l
Figure 508 ,
3 —_— -

“Page 547/548
30 April 1982



ASSEMBLY NO:
DESCRIPTION:
ASSY DWG NO:

QTY/
REF _NO

Al1-D16
JPS

RS

R1

KUSTOM ELECTRONICS, INC.

Overhaul Manual

T1201 - Part No. 062-1201-00

200-5572-00
ATE TEST POINT BD
300-5572-00

DESCRIPTION

TEST JACK
STRAIGHT HEADER

ATE TEST POINT BD

SPACER .25 X 3/16

SCREW PHP 4-40 X 3/16 SEMS
SHOULDER WASHER FBR #¢4
SCREW PHP 4-40 X 1/4 SEMS

KPN

030-0043-00
030-2216-00

009-5572-00
076-0001-46
089-5026-03
090-0004-07

089-5026-04

31-41-1
Page 549
15 February 1984



ASSEMBLY NO:
DESCRIPTION:
ASSY DWG NO:

QTY/
REF NO

VCONOURWN =

o)

O
= N O VO WrE =

KUSTOM ELECTRONICS, INC.

Overhaul Manual

062-1201-03

T1201

ADF CABLE

155-2347-00

DESCRIPTION

LUG GND #6

PLUG DL156

CONN COVER DL 156
DL CAM HANDLE
PLUG ARINC 600

PLUG STRAIGHT KPSE

T1201 - Part No. 062-1201-00

BKAD 125 SHELL CASE COVER

BKAD 125 SHELL CASE

STRAIN RELIEF BRKT SIZE 1
.085

EXTRUD GROMT NYTRIM
NUT HEX #4-40 KEPS

SCREW
SCREW
CABLE
CABLE

PHP 4-40 X 1

1/8

PHP 8-32 X 3/8
JACKET EXPANDO 1/2
JACKET EXPANDO 1

CAP CONN DL 156
CONTACT DL 3 PR
CONTACT DL #18

CONTACT DL #22 & 24
16 PIN KPSE SOCKET
PINS #22 ARINC 600

ARINC 600 #16 SOCKET
ARINC 600 #12 SOCKET

174

KPN

008-0000-00
030-2201-00
030-2202-00
030-2202-01
030-2207-00
030-2208-00
047-1737-00
047-1738-00
147-1748-00
088-0098-01
089-2058-21
089-5058-18
089-5064-06
150-0008-02
150-0008-04

030-2203-00
030-2204-02
030-2205-00
030-2206-00
030-2221-00
030-2223-00
030-2224-02
030-2224-03

31-41-1

Page 550
30 April 1982



/

\ \5/

.,/A

AN
-_‘—\\;\/

\<‘

3

oooopoooooo
Oooooocooo

o
oooooocoo

7

o

DR

O0oovooovoo

ooooooovcpoo
ooOoocooooo

L

o

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

Figure 509

77

i‘f%

NOTES:

TOP DIGIT INDICATES ITEM NUMBER,
' BOTTOM DIGIT INDICATES QUANTITY.

|

2.6 KEY POSITIONING. DARKENED AREA

Q Q REPRESENTS SOLID PORTION OF
KEYING POST AS VIEWED FROM
PIN SIDE OF CONNECTOR .

3. DO NOT REFER TO POSITIONS INDICATED
IN ASSY. DRAWING.

2

:lq 22 22§ KUSTOM ELECTRONICS, INC.
é , /-82 1000 VAN OEIRAR, QWA SNGME A
§ . & ’/5'"1- LumAR: Xxx:2. 00 nuc::&.l
e DA XX:203  AwoLES:E €
P Ll E2 Jusm— ADF LRU o
i b 20 CABLE C
§ —— Jor ' 155-2347-00

31-41-1
Page 551/552
30 April 1982



ASSEMBLY NO:
DESCRIPTION:
ASSY DWG NO:

QTY/
REF _NO

VWoONOOPH WD

® O
= N N2 NDPE =N

KUSTOM ELECTRONICS, INC.

Overhaul Manual

T1201 - Part No. 062-1201-00

062-1201-01
T1201 VOR/MB CABLE
1556-2348-00

DESCRIPTION

LUG GND #6

COAX RGS5SS8

PLUG BNC CRIMP RG 58

PLUG DL 156

CONN COVER DL 156

DL CAM HANDLE

PLUG  ARINC 600

BKAD 125 SHELL CASE COVER
BKAD 125 SHELL CASE
STRAIN RELIEF BRKT SIZE 1
EXTRUD GROMT NYTRIM .085
NUT HEX 4-40 KEPS

SCREW PHP 4-40 X 1°1/8
SCREW PHP 8-32 X 3/8

CABLE JACKET EXPANDO 1 1/4

RNF 100 SHRINK TUBING 1/2

#5 COAX CONTACT

CAP CONN DL 156
CONTACT DL 3 PR
CONTACT DL #18
CONTACT DL #22 & 24
PINS #22 ARINC 600
ARINC 600 #16 SOCKET
ARINC 600 #12 SOCKET

KPN

008-0000-00
024-0000-00
030-0038-02
030-2201-00
030-2202-00
030-2202-01
030-2207-00
047-1737-00
047-1738-00
047-1748-00
088-0098-01
089-2058-21
089-5058-18
089-5064-06
150-0008-04
150-0010-07

030-0047-00
030-2203-00
030-2204-02
030-2205-00
030-2206-00
030-2223-00
030-2224-02
030-2224-03

31-41-1

Page 553/554
30 April 1982



ooooo0000
oooooo0000
0000000000

Y

KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

Figure 510

NOTES:

| TOP DIGIT INDICATES ITEM NUMBER,
: BOTTOM DIGIT INDICATES QUANTITY.

2. & KEY POSITIONING . DARKENED AREA

OO REPRESENTS SOLID PORTION OF
KEYING POST AS VIEWED FROM PIN
SIDE OF CONNECTOR.

3. DO NOT REFER TO POSITIONS INDICATED
IN ASSY. DRAWING .

Qry

B

DATE oy

Cc.0.
cuqk 1§z

NUMSER
155-2348-00

L

age 555/556
30 April 1982




ASSEMBLY NO:
DESCRIPTION:
ASSY DWG NO:

QTY/
REF NO

O~NOOLH WN =

']

KUSTOM ELECTRONICS, INC.

Overhaul Manual

T1201 - Part No. 062-1201-00

062-1201-02
T1201 ILS CABLE
155-2349-00

DESCRIPTION

LUG GND #6

COAX RGS58

PLUG BNC CRIMP RGSS8

PLUG DL 156

CONN COVER DL 156

DL CAM HANDLE

PLUG ARINC 600

BKAD 125 SHELL CASE COVER
BKAD 125 SHELL CASE
STRAIN RELIEF BRKT SIZE 1
EXTRUD GROMT NYTRIM .085
NUT HEX 4-40 KEPS

SCREW PHP 4-40 X 1 1/8
SCREW PHP 8-32 X 3/8
CABLE JACKET EXPANDO 1 1/4
RNF 100 SHRINK TUBING 1/2

#5 COAX CONTACT

CAP CONN DL 156
CONTACT DL #18
CONTACT DL #22 & 24
PINS #22 ARINC 600
ARINC 600 #16 SOCKET
ARINC 600 #12 SOCKET

KPN

008-0000-00
024-0000-00
030-0038-02
030-2201-00
030-2202-00
030-2202-01
030-2207-00
047-1737-00
047-1738-00
047-1748-00
088-0098-01
089-2058-21
089-5058-18
089-5064-06
150-0008-04
150-0010-07

030-0047-00
030-2203-00
030-2205-00
030-2206-00
030-2223-00
030-2224-02
030-2224-03

Page 557/558
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

o0 N
,’6‘
N \\§

ooooocoo
oooo0oocoo

%

000000000
S

&
oaz;iggf
<I>///

oooovooooo

ooooo
oooooooo00

[
o

V-

Figure 511

NOTES:

1 TOP DIGIT INDICATES ITEM NUMBER,
) BOTTOM DIGIT INDICATES QUANTITY.

2. G KEY POSITIONING. DARKENED AREA

OQ REPRESENTS SOLID PORTION OF
KEYING POST AS VIEWED FROM PIN
SIDE OF CONNECTOR.

3. DO NOT REFER TO POSITIONS INDICATED
IN ASSY. DRAWING.

arv | sant numesn SEICRPTION | I
K 2L/ 2] wusTom ELECTRONICS, INC.
_. (1 K ¥ ___$7 " ¥ ]
4 £ :
F °;° * 4 ./{" LA xxx:2.010 woLES: £.008
Y AT XX:208  AwOLES:tT
M i wam (S LRU o
°13 CABLE C
e
¥l- —#— Jor ' 155-2349-00

31-41-1
Page 559/560
30 April 1982



KUSTOM ELECTRONICS, INC.

Overhaul Manual

T1201 - Part MNo. 062-1201-00

T1201 ADF, VOR, ILS DFIU - WIRE LIST

VOR LRU CABLE (KPN 062-1201-01)

FUNCTION

MARKER SENSE CON
FUNCTION TEST DI

TROL
SCRETE

MARKER BEACON INHIBIT
DATA SOURCE CONTROL

AIR/GROUND LOGIC
SDI' 1

SDI 2

SDI 3

OUTER MARKER
MIDDLE MKR

F MKR

PANEL PWR 115 VAC HOT (OUTPUT)

PANEL PWR 115 VAC COLD

SPARE

SPARE

MKR AUDIO LO
MKR AUDIO HI
MKR AUDIO SHIELD
AUDIO LO

AUDIO HI

AUDIO SHIELD
429 BUSS PORT A
429 BUSS PORT A
429 BUSS PORT A
429 BUSS PORT B
429 BUSS PORT B
429 BUSS PORT B
OMNI BEARING #1
OMNI BEARING #1
OMNI BEARING #1
OMNI BEARING #2
OMNI BEARING #2
OMNI BEARING #2

INPUT A

INPUT B
SHIELD

INPUT A

INPUT B
SHIELD

OUTPUT A
OUTPUT B
OUTPUT SHIELD
OUTPUT A
OUTPUT B
OUTPUT SHIELD

UUT POWER 115 VAC HOT
UUT POWER 115 VAC COLD

UUT CHASSIS GROU
VOR MARKER ANTEN
VOR ANTENNA

ND
NA

DFIU
CONNEGTOR
PIN #

- WIRE
COLOR

BLK
WHT
RED
GRN
ORN
BLU
WHT/BLK
RED/BLK
GRN/BLK
ORN/BLK
BLU/BLK
BLK/WHT
RED/WHT
GRN/WHT
BLU/WHT
RED
BLK
SHIELD
RED
BLK
SHIELD
RED
BLK
SHIELD
RED
BLK
SHIELD
RED
BLK
SHIELD
RED
BLK
SHIELD
BLK
WHT
GRN
N/A
N/A

LRU
CONNECTOR

PIN #

MP D9
MP D6
MP D2
MP All
MP A15
MP A6

31-41-1

Page 601
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

DFIU

CONNECTOR WIRE
FUNCTION PIN # COLOR
ATE POINT C2 T1 BLK
ATE POINT A3 T2 WHT
ATE POINT C3 T3 RED
ATE POINT B4 T4 GRN
ATE POINT A5 T5 ORN
ATE POINT C5 T6 BLU
ATE POINT D2 Ul WHT/BLK
ATE POINT D4 u2 RED/BLK
ATE POINT B6 u3 GRN/BLK
ATE POINT C7 ua ORN/BLK
ATE POINT A7 us BLU/BLK
ATE POINT D6 ué BLK/WHT
ATE POINT D8 A RED/WHT
ATE POINT C8 V2 GRN/WHT
ATE POINT B8 V3 BLU/WHT
SHIELD none SHIELD
ATE POINT A8 V4 BLK
ATE POINT D10 V5 WHT
ATE POINT C9 V6 RED
ATE POINT C11 W1 GRN
ATE POINT B10 W2 ORN
ATE POINT A9 W3 BLU
ATE POINT A1l W4 WHT/BLK
ATE POINT D13 W5 RED/BLK
ATE POINT D15 W6 GRN/BLK
ATE POINT B12 X1 ORN/BLK
ATE POINT C13 X2 BLU/BLK
ATE POINT Al3 X3 BLK/WHT
ATE POINT C14 X4 RED/WHT
ATE POINT B14 X5 GRN/WHT
ATE POINT Al4 X6 BLU/WHT
SHIELD none SHIELD
ATE POINT B2 Y1 BLK
ATE POINT A2 Y2 WHT
ATE POINT B3 Y3 RED
ATE POINT A4 Y4 GRN
ATE POINT C4 Y5 ORN
ATE POINT B5 Y6 BLU
ATE POINT D1 71 WHT/BLK
ATE POINT D3 72 RED/BLK
ATE POINT A6 73 GRN/BLK
ATE POINT C6 74 ORN/BLK
ATE POINT B7 Z5 BLU/BLK
ATE POINT D5 76 BLK/WHT
ATE POINT D7 al RED/WHT
ATE POINT Al a2 GRN/WHT

LRU
CONNECTOR
PIN #

31-41-1
Page 602
30 April 1982



FUNCTION

ATE

POINT

SHIELD

ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE

POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT

SHIELD

Bl

C1
D9

D11

C10
B9

B11
A10
D12
D14
Al12
C12
B13
C15
B15
A15

KUSTOM ELECTRONICS, INC.

Overhaul Manual
T1201 - Part No. 062-1201

DFIU
CONNECTOR .
PIN #

a3
none
ad

-00

WIRE
COLOR

BLU/WHT
SHIELD
BLK
WHT
RED
GRN
ORN
BLU
WHT/BLK
RED/BLK
GRN/BLK
ORN/BLK
BLU/BLK
BLK/WHT
RED/WHT
GRN/WHT
BLU/WHT
SHIELD

LRU
CONNECTOR
PIN #

TP Bl
case
TP C1
TP D9
TP D11
TP C10
TP B9
TP B11
TP A10
TP D12
TP D14
TP Al12
TP C12
TP B13
TP C15
TP B15
TP A15
case

31-41-1
Page 603
30 April 1982



KUSTOM ELECTRONICS, INC.
Overhaul Manual
T1201 - Part No. 062-1201-00

ILS LRU CABLE (KPN 062-1201-02)

DFIU

CONNECTOR WIRE
FUNCTION PIN # COLOR
FUNCTIONAL TEST DISCRETE B3 BLK
DATA SOURCE CONTROL B5 WHT
AIR/GROUND LOGIC B6 RED
SPARE C1 GRN
TUNE FUNCTION TEST C2 ORN
SPARE C3 BLU
SPARE c4 WHT/BLK
AFS LOC CONTROL LINE C5 RED/BLK
AFS LOC CONTINUOUS C6 GRN/BLK
SDI' 1 D1 ORN/BLK
AFS LOC INTERRUPTED D2 BLU/BLK
SDI COMMON D3 BLK/WHT
SDI 2 D4 RED/WHT
CONTROL PANEL POWER HOT M5 GRN/WHT
CONTROL PANEL POWER COLD L5 BLU/WHT
AUDIO LO F1 BLK
AUDIO HI F2 RED
AUDIO SHIELD Fa SHIELD
429 BUSS PORT A INPUT A L1 RED
429 BUSS PORT A INPUT B M1 BLK
429 BUSS PORT A SHIELD Row N SHIELD
429 BUSS PORT B INPUT A L2 RED
429 BUSS PORT B INPUT B M2 BLK
429 BUSS PORT B SHIELD Row N SHIELD
RECEIVER PORT #1 OUTPUT A L3 RED
RECEIVER PORT #1 OUTPUT B M3 BLK
RECEIVER PORT #1 SHIELD Row N SHIELD
RECEIVER PORT #2 OUTPUT A L4 RED
RECEIVER PORT #2 OUTPUT B M4 BLK
RECEIVER PORT #2 SHIELD Row N SHIELD
UUT POWER 115 VAC HOT M6 BLK
UUT POWER 115 VAC COLD L6 WHT
UUT CHASSIS GROUND Row N GRN
ILS ANTENNA GLIDE SLOPE BNC N/A
ILS LOCALIZER ANTENNA BNC N/A
ATE POINT C2 T1 BLK
ATE POINT A3 T2 WHT
ATE POINT C3 T3 RED
ATE POINT B4 T4 GRN
ATE POINT A5 T5 ORN
ATE POINT C5 T6 BLU
ATE POINT D2 ul WHT/BLK
ATE POINT D4 uz RED/BLK
ATE POINT B6 us GRN/BLK

LRU
CONNECTOR
PIN #

TP

D1
A13

31-41-1

30

Page 604
April 1982



FUNCTION

ATE POINT C7
ATE POINT A7

ATE
ATE
ATE
ATE

POINT
POINT
POINT
POINT

SHIELD

ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE

POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT

SHIELD

ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE
ATE

POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT
POINT

SHIELD

ATE
ATE
ATE
ATE
ATE
ATE
ATE

POINT
POINT
POINT
POINT
POINT
POINT
POINT

Al14

B2
A2
B3
A4
C4
B5
D1
D3
A6
C6
B7
D5
D7
Al
Bl

C1
D9
D11
C10
B9
B11
A10

KUSTOM ELECTRONICS, INC.
Overhaul Manual

DFIU
CONNECTOR
PIN #

T1201 - Part No. 062-1201-00

<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>